

شماره ۲۰

ادرس محنتی

$$1) \lim_{x \rightarrow \sqrt{r}} \frac{\sqrt{x-a}}{x^r + ax + b} = -\infty \left\{ \begin{array}{l} \lim_{x \rightarrow \sqrt{r}} x^r + ax + b = 0 \\ \lim_{x \rightarrow \sqrt{r}} \sqrt{x-a} = -1 < 0 \end{array} \right. \Rightarrow x^r + ax + b = (x - \sqrt{r})^r = x^r - r x^{r-1} + \dots$$

نقطه ۱

$$\Rightarrow a + b = 0$$

$$2) \lim_{x \rightarrow \sqrt{r}} \frac{x}{x^r + ax + b} \left\{ \begin{array}{l} x^r + ax + b = f(x) \\ \lim_{x \rightarrow \sqrt{r}} f(x) = 0 \Rightarrow f(x) = (x - \sqrt{r})^r = x^r - r \sqrt{r} x^{r-1} + r \sqrt{r} \end{array} \right.$$

نقطه ۱

$$\lim_{x \rightarrow \sqrt{r}} (x) > 0$$

$$\left[\frac{b}{a} \right] = \left[\frac{+r \sqrt{r}}{-r \sqrt{r}} \right] = \left[-\sqrt{r} \right] = -1$$

$$3) \lim_{x \rightarrow (\frac{\sqrt{r}}{r})^+} \frac{[-x] + a}{|\frac{\sqrt{r}}{r} x + a| + a} = \lim_{x \rightarrow (\frac{\sqrt{r}}{r})^+} \frac{a-1}{|\frac{\sqrt{r}}{r} x + a| + a} = -\infty$$

$$\Rightarrow \left| \frac{\sqrt{r}}{r} x + a \right| + a = 0 \rightarrow -a = \left| a + \frac{1}{r} \right| \Rightarrow a^r = a^r + \frac{r}{r} a + \frac{1}{r} \Rightarrow a = -\frac{1}{r}$$

ا < 0

$$[a] = -1$$

$$4) x > -\frac{1}{r} \rightarrow x^r < \frac{1}{r} \rightarrow \frac{1}{x^r} > r \rightarrow \frac{-r}{x^r} < -1 \rightarrow \left[\frac{-r}{x^r} \right] = -1$$

نقطه ۱

$$\Rightarrow \lim_{x \rightarrow -\frac{1}{r}^+} \frac{14x - (-\frac{9}{r})}{r^r x + 11} = \lim_{x \rightarrow -\frac{1}{r}^+} \frac{14x + 9}{r^r (x + \frac{1}{r})} = +\infty$$

نقطه ۱

$$5) x > r \rightarrow x^r > 1 \rightarrow [x^r] = 1$$

$$\lim_{x \rightarrow r} \frac{x^r - r}{x^r - (1)} = \lim_{x \rightarrow r} \frac{x + r}{x^r + r x + r} = \frac{r}{r} = 1$$

$$4) \lim_{x \rightarrow -1} \frac{(x+1)^{-1/2}}{1/2(\sqrt{x}+1)} = - \lim_{x \rightarrow -1} \frac{x+1}{\sqrt{x}+1} = - \lim_{x \rightarrow -1} \frac{\sqrt{x}+1}{\sqrt{x}+1} (x^{\frac{1}{2}} + x^{\frac{1}{2}}) = -1$$

$$5) \sqrt{1+x} - \sqrt{1-x} = \frac{1+x - (1-x)}{\sqrt{1+x} + \sqrt{1-x}} = \frac{2x}{\sqrt{1+x} + \sqrt{1-x}}$$

$$\sqrt{1-\cos x} = \sqrt{1 - (1 - 2\sin^2 \frac{x}{2})} = \sqrt{2} |\sin \frac{x}{2}| \rightarrow -\sqrt{2} \sin \frac{x}{2}$$

$$\lim_{x \rightarrow 0^-} \left(\frac{x}{\sqrt{1+x} + \sqrt{1-x}} \right) \cdot \frac{1}{-\sqrt{2}} \cdot \frac{2 \cdot \frac{x}{2}}{\sin \frac{x}{2}} = \frac{x}{2\sqrt{2}} \cdot \frac{1}{-\sqrt{2}} \cdot 2 = -\frac{1}{2}$$

$$6) \lim_{x \rightarrow 0} \frac{k + \cos(\sqrt{a}x)}{kx^2} = \infty \rightarrow k + \cos(0) = 0 \Rightarrow k = -1$$

$$\lim_{x \rightarrow 0} \frac{1 - \cos(\sqrt{a}x)}{x^2} = \lim_{x \rightarrow 0} \frac{2 \sin^2(\frac{\sqrt{a}}{2}x)}{\frac{x}{\frac{1}{a}} \cdot \frac{a}{2}x^2} = \frac{2}{\frac{1}{a}} = \frac{a}{2} = \infty \Rightarrow a = 4$$

$$\frac{a}{k} = -\frac{4}{1}$$

$$7) \lim_{x \rightarrow \sqrt{a}^+} \frac{\sqrt{x-a} + \sqrt{x-a}}{\sqrt{x-a} \cdot \sqrt{x-a}} = \lim_{x \rightarrow \sqrt{a}^+} \frac{2\sqrt{x-a}}{\sqrt{x-a}} = 2$$

$$\lim_{x \rightarrow \sqrt{a}^+} \frac{\sqrt{x-a}}{\sqrt{x-a}} \cdot \frac{\sqrt{x-a}}{\sqrt{x-a}} = \lim_{x \rightarrow \sqrt{a}^+} \frac{x-a}{x-a} \cdot \frac{\sqrt{x-a}}{\sqrt{x-a}} = 0$$

$$L = \frac{2 + 2(0)}{\sqrt{4a}} = \frac{2}{\sqrt{4a}} = \frac{1}{\sqrt{a}} a^{-\frac{1}{2}} = \frac{\sqrt{a}}{a}$$

8) 10) $x > -1$: $x^2 - 1 < 0 \rightarrow -k[x] + 1 > 0$: $k < \frac{1}{x}$ } $k \in (-1, -\frac{1}{x})$
 $x < -1$: $x^2 - 1 > 0 \rightarrow -k[x] + 1 < 0$: $k > \frac{1}{x}$ } $k \in (-\frac{1}{x}, -1)$: $\frac{1}{x} < -1$
 Clear $\frac{1}{x} < -1 \leftarrow k < 0$, $\cos < 0 \leftarrow \cos$

Scanned with